RSAN-(CETDT7>— b (RSY2T-XHER) &£5HER

72— KRR : F30612898 (H)

Q1 : &R

1065 208 308 4018 5018 6018

42 17 41 38 15 7

=104
= 204%;
(26%) " 30{¢
201% = 40ft
T (11%) = 504¢
30f%
41N (26%) =604

Q3 : RSAN=EWDIHHHMFHELTETFSNDD ? (BHHEE)
(3]

1RO . : Rz
= F5 )
SBURE Sy REyR | '{bﬂ RS )t—
2N
2 6 13 55 1
(BEEE]
WERSAN— SR 2 (3%)
1 31%) B OVED
6 (8%)
) " R
BT 13 = EREDOOED
ar%) = st
&I u 1@;@:7‘;&)“‘ S5N720
P 5N SSAN
55 (71%) TR

Q2 : &R

EZlS oy RO

79 67 17

BH5

= 5
Ll
= EE%

Q3 : RSAN—EWVWSHBMEHMELTETSNDD ? (ZHEEZ)

BRI
=000) _ - B
mugm | | mEe | ggsn | T
TR
1 2 9 53 0
%H';?ﬁ 1 (2%)\\ 7//7,1@@@0\&3 {ﬁﬁ@g]
2 (3%)
i
9 (14%) R
= {BEEOVED
= fgEteh
oo = EEICEIT SN0
sine = BN A N —

B(F5NR
53(81%)




Q4 : RSAN—EWIHBADAA—EF? (BHEE - BHEE)

Q4 : RSAN—EWIHBADAA—DEF? (ZHEE - BHEET)

DB §
aonniipm| TOOBE b armn| TP o con | Bons | mErsn
PEELL VAN
27 22 20 19 18 13 10
O TR | o
= =1 N\ (0]
53 | SR g mEern |[TEPEY g | TR
5 4 2 1 1 0 4
) KEDZ  ghpsEEPT (BEEE)
LHEDBEION 1 (%) 1 (4%
A | = S HDLE
208 " ESEHOBEEAELL
4 (3% RADINE "EEHNTN
27 (18%) = REHDRN
PO DB oS Tl AV
b EHOEED " BIEOHS
B ERENZ
- 20 (15% LRSUTRY Y
pEe - " EROE
18 (2%) ykE 7yt | EEOZ = DI
D7zl [He0N(4%) " LHLBEPT L
19 (13%) LR N=F AR
" Z0f
(ZOMOER)
AR DENEBITRUNMESE
NIV IDRZAN—=ED2T
TREHEDHS
BINEES

Q5 : BESTERDIR. EBRI D &FMTIN? (BHEE - EHOER)

EHOEE HEN | s
N A N LY | N:
L | PIPEE Do TV Stows| OO | T e
28 25 20 18 11 10 7
heloy AV THENBIZE | EENDR
= N = RES X
53 B&HRV | EE2NEV | RBNAZL P 0 ZOfth
6 5 1 1 0 0 1
‘Eiﬁ:ﬁ%b VO RABEN mepEn (LHEEE]
Sz A oA aw
P \LL = SEHOEEOHLL
’ S = ENDINE
REMNSIN Nt AN
7 (5%) ST DIBER D = BHDOHLE
#LW " REDDALN
ZIED s (= <\ 28 (21%) " LD EE
L LN BEENSZ
KEDDRN o o0 D
H (8%) %2753/](@? " ESHATN
' : B EEHNFIN
%‘:30()1%% Tl A [T =R EAR
- 20 (16%) B HAEE TN
" ZDfth

(ZDOMDER)
TEROTNDRHETS

Q5 : BESTERDIR. EBRI D &FMTIN? (LHEE - EHOEe)

. _ GBS
o N 1 |ESEEA B X
w5 PO (=] ARBREGR | @B<ERE | ERAR HREDEIR
39 31 27 21 12 4 4
=iE
(b1 ZAfth
BAREE)
2 2
FEFCER RIB //,%@ﬂil 2 (1%) [BHEE]
f a5
DA
12 (8%) w5 " {kH
39 (28%)
AR = AR
21 (15%) " ECISRS

B Popi
o1 (%) 51 (22%)

(ZDOHDER)
ANDERESEICT S
BHZE2TNDD

‘ _ REFEH
o ¥ Bl 1% B X
B KB | OBy | ARG | SRR | RS |l
40 33 25 19 11 7 6
b
(hL-| zoft
EREZ)
1 0
REFOEE ImbE (%) (ZEEE]
HSDBNRL
6 ( 4/%»/// L=t
=T 5 = ke
7 (5%) 1 (8%) 165 = R0 BN
40 (28%) EPNC TS
Ll = BB
i’ " BRI
S ! " G CERES OB

33 (23%)

25 (18%)

BRI BRESE)
= Z0ft




Q6 : HHSEERIRCHAISZ - R2WY—-ILEF? (BHEE - E#EEEe)

Q6 : HHSEERIRCHAISZ - R2WY—ILEF? (HHEHEE - E#EEE)

Sz
AO— 25— | BARA | D371
Ry RRA IS IRt
o—p |TYDRA FEES oy me| 2ok |ozoss|TROR
YAk
49 17 11 10 6 5 2
JU—
i | O
1 3
FROLE 2 Q%) 7Y—~—sx— (BHEEE]
DE P Pk Tl SR 1 (%)
5 (5%) NS,
- = B AARAS A
eI K " FRILE
6 6% [ R BN
A NA—T—25 = BAR A S b
LG 19 (47%) " YT RIS
HHLS = B0
1 (10%) TN N
1 8—Fwh " Z0fh

Q7 : AR MIBMENBEToMNFERDEDIFE? (BHEE - H#EET)

FAS A
17 (16%)

—— — =
na- | ave— | 0 | B | 53 ;,“éfi "
-2 Ry MRS : il I SV N b R <

YA b I5iB
47 11 10 9 4 2
1)—
T R zoft
R—)(—
1 0 0
S BARDEHEL SRR .
4 (5%)
=k ARy 1 (%) ./\F_Ufﬁ w
R ALY RS SN
6 (7% " A2 E— IR AS A
iR = RIS
9 (10%) AO—T— s " KA K
- . 0 nYa7H7Ildb
—ARY 47 (52% . . _
- e " BHROLHLC LIEE
10 (1%) " mRIRE
T 8—3y "IN
" EOf

MLEE 1
(12%)

Q7 1 ARY MIBMENBEToMNFERDEDIFE? (THEE - H#EET)

. (> — . _ }
F5> | FLE | \y/n\ | RAZ— | i SoA | Mt
37 36 25 22 16 12 7
X JU—
Twitter |Instagram et RERDILE| Zoft
3 2 1 1 7
stagram 2 (1%) [BiEEZE]

nFTY
L=

Fov
37 (22%)

22 (13%) g1~
ES NN
25 (16%)

Tle

36 (21%)

" A a—RoMRE
B RZH—

ek

B %

T

u Twitter
®|nstagram

) — RN

= hRlLEE

" ZDfth

) (> — . _ }
F5> | FLE | \y/n\ | RAZ— | i SoA |
34 22 20 15 8 5
X JU—
Twitter |Instagram et mERDILE| Zoft
5 5 3 2
T)= =N FRILEE [ZtEEZ]
3 (2% 9 S
Instagram,,,j——ﬁ”’”” 2 (% =FIy
5 (4%) e
B SN
Twitter HRAL—
5 (4%) L %
5t n i
5 (4%) FLE - %/ﬁ%
A — 20 (7% = Twitter
15 (1% 4 T2~ = Instagram
ESIN= B YN N
20 (16%) = RmYLE

uZOf



